



(An Autonomous Institution)
Coimbatore – 35

#### **DEPARTMENT OF MATHEMATICS**

UNIT - IV FUNCTIONS OF SEVERAL VARIABLES

# PARTIAL DERIVATIVES :

Let u = f(x,y) be a function of two independent variables. Differentiating 'u' w. x. to 'x' keeping 'y' as constant is known as postial derivative of u and w. x. to x and is denoted by  $\frac{\partial u}{\partial x}$  is  $u_x$ .

Similarly,  $\frac{\partial u}{\partial y}$  (u)  $u_y$ .

## NoTE:

$$\frac{\partial u}{\partial x} = \frac{\partial v}{\partial x} + \frac{\partial w}{\partial x} + \cdots$$

$$\frac{\partial u}{\partial y} = \frac{\partial v}{\partial y} + \frac{\partial w}{\partial y} + \cdots$$

$$\frac{\partial}{\partial x}(uv) = u \frac{\partial v}{\partial x} + v \frac{\partial u}{\partial x}$$

$$\frac{\partial}{\partial y}(uv) = u \frac{\partial v}{\partial y} + v \frac{\partial u}{\partial y}$$

$$\frac{\partial}{\partial x} \left( \frac{u}{v} \right) = \frac{v \frac{\partial v}{\partial x} - u \frac{\partial v}{\partial x}}{v^2}$$

$$\frac{\partial}{\partial y}\left(\frac{u}{v}\right) = v \frac{\partial v}{\partial y} - u \frac{\partial u}{\partial y}$$





(An Autonomous Institution)
Coimbatore – 35

#### **DEPARTMENT OF MATHEMATICS**

#### UNIT - IV FUNCTIONS OF SEVERAL VARIABLES

(iv) 
$$f_{b}$$
  $u$  is a function  $g$   $t$  where  $t$  is a function  $g$  the variables  $x, y, z$ . Then 
$$\frac{\partial u}{\partial x} = \frac{\partial u}{\partial t} \cdot \frac{\partial t}{\partial x}$$
$$\frac{\partial u}{\partial y} = \frac{\partial u}{\partial t} \cdot \frac{\partial t}{\partial y}$$
.

# BUCCESSIVE PARTIAL DIFFERENTIATION:

Let 
$$z = \int (x, y)$$
 then  $\frac{\partial z}{\partial x} \otimes \frac{\partial z}{\partial y}$  being the function of  $x \otimes y$  can be further be differentiated partially  $w \cdot x \cdot to x \otimes y$ .

The have  $\frac{\partial^2 z}{\partial x^2}$ ,  $\frac{\partial^2 z}{\partial y^2}$ ,  $\frac{\partial^2 z}{\partial x \partial y}$ ,  $\frac{\partial^2 z}{\partial y \partial x}$ .

Note:  $\frac{\partial^2 z}{\partial x^2} = \frac{\partial^2 z}{\partial y \partial x}$ .





(An Autonomous Institution)
Coimbatore – 35

#### **DEPARTMENT OF MATHEMATICS**

UNIT - IV FUNCTIONS OF SEVERAL VARIABLES

Set 
$$U = \frac{x}{y} + \frac{y}{3} + \frac{3}{x}$$
.

 $\frac{\partial u}{\partial x} = \frac{1}{y} - \frac{3}{x^2} \implies x \frac{\partial u}{\partial x} = \frac{x}{y} - \frac{3}{x}$ 
 $\frac{\partial u}{\partial y} = -\frac{x}{y^2} + \frac{1}{3} \implies y \frac{\partial u}{\partial y} = -\frac{x}{y} + \frac{y}{3}$ 
 $\frac{\partial u}{\partial 3} = -\frac{y}{3^2} + \frac{1}{x} \implies 3 \frac{\partial u}{\partial 3} = -\frac{y}{3} + \frac{3}{x}$ 
 $\therefore x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} + 3 \frac{\partial u}{\partial 3} = 0$ 

2) If  $u = (x - y)^2 + (y - 3)^2 + (3 - x)^2$ .  $p \cdot 7 \cdot \frac{\partial u}{\partial x} + \frac{\partial u}{\partial y} + \frac{\partial u}{\partial 3} = 0$ 
 $\frac{\partial u}{\partial x} = a(x - y)(1) + a(x - x)^2$ .

 $\frac{\partial u}{\partial x} = a(x - y)(1) + a(x - y)(-1) = a(x - y) - a(x - y)$ 
 $\frac{\partial u}{\partial y} = a(x - x)(1) + a(x - y)(-1) = a(x - x) - a(x - y)$ 
 $\frac{\partial u}{\partial y} = a(x - x)(1) + a(x - y)(-1) = a(x - x) - a(x - y)$ 
 $\frac{\partial u}{\partial y} = a(x - x)(1) + a(x - y)(-1) = a(x - x) - a(x - y)$ 





(An Autonomous Institution)
Coimbatore – 35

#### **DEPARTMENT OF MATHEMATICS**

UNIT - IV FUNCTIONS OF SEVERAL VARIABLES

$$\int_{0}^{\infty} \int_{0}^{\infty} r^{2} = (m-\alpha)^{2} + (y-b)^{2} + (z-c)^{2} + z + \frac{\partial^{2} r}{\partial x^{2}} + \frac{\partial^{2} r}{\partial z^{2}} + \frac{\partial^{2} r}{\partial z^{2$$

$$\frac{\partial r}{\partial y} = \frac{y \cdot b}{r}$$

$$\frac{\partial^{2}r}{\partial y^{2}} = \frac{r^{2} (y \cdot b)^{2}}{r^{3}}$$

$$\frac{\partial^{2}r}{\partial x^{2}} = \frac{3 \cdot c}{r}$$

$$\frac{\partial^{2}r}{\partial x^{2}} = \frac{r^{2} (3 \cdot c)^{2}}{r^{3}}$$

$$\frac{\partial^{2}r}{\partial x^{2}} + \frac{\partial^{2}r}{\partial y^{2}} + \frac{\partial^{2}r}{\partial y^{2}} = \frac{r^{2} (n \cdot a)^{2} + r^{2} (y \cdot b)^{2} + r^{2} (3 \cdot c)^{2}}{r^{3}}$$

$$= 3r^{2} - [(n \cdot a)^{2} + (y \cdot b)^{2} + (3 \cdot c)^{2}] = \frac{3r^{2} - r^{2}}{r^{3}}$$

$$= \frac{2}{r}$$